
1

→║←40mm 5,98 x 4,00+0,5        40061

 Ø4



2

1

4

5980 1
400384

4000
400079

52+1

285
400039

34

390
400253

9

8

4500

401056
1

5

1035
400386

97

9

490
190

6

2935
400387

8

SPECIFICATION
→║←40mm 5,98 x 4,00+0,5        40061

Länge Quantity
Ref.NamePos.SkizzeDim.

1
1
0

40

5
5

40

2 285 2
400061Front Brett

2935 1
4000623

1
1
3

40

4200
400015

310290

4500
401057

1

11a
11b

Seiten Brett

Zurück Brett

Front Brett

Front Brett

Front Brett

Front Brett

Zurück Brett

Seiten Brett

Seiten Brett

5980 17+1
400385Zurück Brett

4500
401073

1

5
0

40 12 Seiten Brett

490
190

4500
401073

1

5
0

40 12 Seiten Brett

490
190

M

Spiegel, Mirror

Alle maßen ca +/-3%



3

17 4500
404074

4

96

1
9 18 3150

284510
104

(82)

1
6

5

55

→║←40mm 5,98 x 4,00+0,5        40061

490
190

20 3180 4
2850151

9

98

21 3180 4
2865111

9

48

22 200 2
2869901

9

98

SPECIFICATION

Alle maßen ca +/-3%

Sparren

Dach Bretter

Wind Brett

Wind Brett

Dekor

2250 4
286073Leiste

98

1
4 19a

28

2
8 19b 2250 4

286074Leiste

(121)

402057

2561

5980 213 Front/Zurück Brett

402056
5230 214 Front/Zurück Brett

402055
3775 215 Front/Zurück Brett

402054
2560 216 Front/Zurück Brett

23 2100 4
286801Wind Brett1

9

48



4

→║←40mm 5,98 x 4,00+0,5        40061

TR3

1TR1

1963

1TR6

1500 1TR4
Türstufe

1850x

765

1
289006T1

Tür
1850x

765

1
289006T2

1850x

765

1T3

Über Türrahmen

Türrahmen links

Türrahmen rechs

SPECIFICATION

Alle maßen ca +/-3%

745 1TR8

1700

945

1

1

1963

1963

1963

TR7

TR5

TR2

1

1

1576x

1076

1
409102F1 Fenster

Tür

OPTION
Dachpappe

Bitumen Schindeln

285519

285520

409224

409228

409225

409225

409226

409229

409227

409230

289015



5

Dim

Ø5.0 x 100 8
Qté.Pos.

Ø3.5 x 40 90

Ø2.0 x 40 420

→║←40mm 5,98 x 4,00+0,5        40061

M8 x 60 4
8
4M8

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,9x32

M5x60Ø3,9x32

Ø2,5x16

Ø3,5x30 Ø2,5x16

Ø3,5x30

x2
Ø4,0x20

x2

x2x2

x2 x9



6

→║←40mm 5,98 x 4,00+0,5        40061

1

60

!

2

4

4

4

5

5

6

7

8

9

1

2
3

2
4

4
4



2

7

→║←40mm 5,98 x 4,00+0,5        40061

3

TR1

TR2

F1

Ø3.5x40
 Ø4

F1
TR1
TR2

4

6

7

9

4

4

4

10

1011a

11b



8

→║←40mm 5,98 x 4,00+0,5        40061

5

13
14

15
16

4

13
14

15
16

12

10

6

17
17

17 17

Seiten Brett
(Spiegel, Mirror)12m



21

202122

21 20
21 2022

19a
19b

19a
19b

19b
19a

19b
19a

20

9

Ø3.5x40

M6

Ø6 M6x80
Ø6

Ø6

23

23

23

23

23

10
0m

m

→║←40mm 5,98 x 4,00+0,5        40061

18

7

~3-4 mm 18

18
Ø2x40

2

Ø3.5x40
 Ø4

19b19a

19b19a

1

!

2

Ø3.5x40 Ø4



10

T1

Ø5.0x100

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x30

M5x60

Ø3,5x30

TR

TR1

TR2

TR3

TR4

Ø2,5x16
Ø3,5x30

T2

T2

Ø2,5x16

 Ø10
TR4

TR4

Ø3,5x30
T1
T2

TR2

→║←40mm 5,98 x 4,00+0,5        40061

T2

TR1



11

Ø5,0x100

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x20

Ø3,5x30

M5x60

Ø3,5x30

TR

TR5
TR6

TR7

TR8

Ø3,5x30
TR1

Ø4.0x30
T3

TR6

T3

→║←40mm  3,0 x 4,5     40061

14 / 14


